7N ERRRE G BRAE

JEHPREET

miER. W& QFEh RS

JHFH. JHFHS-zm=#ugsr
i

E i

N

L\

2 AR N

JHFH  -M8 -12-171
JHEH S — 0420 — 15

ST

‘ %' e

**LS % M&ﬂr m,a%gz fjg £H e
[ TN R R N TS O

gy | BURE |y | g | ZEL KRV “L” +0. 4 Bo| s | 1| s

8 [ m | rmm | KB | &2 | T (K BEARAG DA K A B ) +0.25 | Bk | Bk | gk
M5 x 0.8 | JHFH | JHFHS M5 1.3 5 15 20 25 30 35 7.8 2.7 1.14 10.7
M6 X 1 | JHFH | JHFHS M6 1.5 6 15 20 25 30 35 9.4 2.8 1.27 11.5
M8x1.25 | JHFH | JHFHS M8 2 15 20 25 30 35 12.5 3.5 1.78 12.7
M10x1.5 | JHFH | JHFHS M10 2.3 10 15 20 25 30 35 15.70 4.1 2.29 13.7

SRS (L B in)

ma | WOEE | ga | me | B G RN seieey | 1 | s | 1| &

o W | BN | BUF | 2005 [ 75 [ 100 | 125 ] 150 | 175 | 100 | BA | BA | AAE
108-32 | JHFH | JHFHS 032 | .050 . 190 12 16 20 24 28 . 300 .105 | .040 .415
1/4-20 | JHFH | JHFHS | 0420 | .060 . 250 12 16 20 24 28 . 380 .125 | . 050 . 460
5/16-18 | JHFH | JHFHS | 0518 | . 075 . 312 12 16 20 24 28 . 480 .140 | .070 . 500
3/8-16 | JHFH | JHFHS | 0616 | .090 . 375 12 16 20 24 28 . 580 .155 | .085 .530

B ESZE: 13914003355 (FH4A)
SRS 13511601078 (F54)

FAR®#: 13914002255 CAhsed)
a3 www.szjdph.com



NS R E G ERAT JE SR ST R MR, 8IE. RS
885 8- JHFH/ JHFHS -E 84T

BE4T BEAL YRR A R IR REMREE | ®E | H#HA HH | REE
R ARG N.m B E B R HRB KN N N.m KN
THFH M5 7.7 1. 5mm 48 15 13 800 5. 4 12.8
THFH M6 13 1. 5mm 48 43 29 1270 14 18. 1
THFH M8 32 2. 3mm & 39 35.6 | 1700 30 32.9
THFH M10 63 2. 3mm & 39 53.3 | 2445 36 52. 2
THFH W5 7.7 1. 5mm 4R 65 2% 1500 7.6 12.8
JHFH M6 13 1. 5mm 4R 59 33 1750 14 18. 1
THFH M8 32 2. 3mm 44 58 4.5 | 2200 30 32.9
JHFH M10 63 2. 3mm 44 58 7.2 | 3470 49 52.2
THFHS W5 3.8 1. 62mm 48 35 12.4 | 800 5. 4 7.3
JHFHS M6 6.5 1. 62mm 48 35 15.4 | 1270 11 10.3
JHFHS M8 16 2. 23mm 48 44 24.4 | 1700 20 18.8
JHFHS M10 31 2. 3mm 4 44 4.4 | 2445 36 29.9
THFHS M5 3.8 1. 47mm 48 54 51.7 | 1500 6. 4 7.3
JHFHS M6 6.5 1. 6mm 4N 45 24.6 | 1750 11 10.3
THFHS M8 16 9. 48mm 4N 43 37.8 | 2100 20 18.8
THFHS M10 31 2. 3mm &4 44 57.7 | 3470 36 29.9
W5 6. 4 Tmm HC500LA 89 5.1 | 1350 8.1 12.8
JJPII*FFPII{S M6 11 1mm HC500LA 89 60 1400 14.4 18. 1
M8 26 1. 5mm HC500LA 91 7.7 | 2400 33.9 32.9
BRAT BBRAL BRI R K R IR | =¥ | #EHA W | PihsRE
g% R ft. lbs. BB R R HRB 1bs. 1bs. ft. 1bs. 1bs.
THFH 032 4.6 060" 48 15 3000 180 4 2400
THFH 0420 9.6 .060” 48 43 5500 285 11 3820
THFH 0518 20 .091” 48 39 8000 380 22 6280
THFH 0616 35 .091” 48 39 12000 | 550 25 9300
THFH 032 4.6 060" 4N 65 6000 375 5 2400
THFH 0420 9.6 .060” 4N 59 7000 | 480 11 3820
THFH 0518 20 .090” 4N 58 10000 | 590 22 6280
THFH 0616 35 .090” 4N 58 16000 | 780 36 9300
E:3
THFHS 032 2.5 050" 48 38 4000 180 4 1500
W THRHS 0420 5.2 .064” 48 32 4000 285 8 2385
JHFHS 0518 11 .087” 48 41 5500 380 15 3930
JHFHS 0616 19 .123” 48 44 10000 | 560 25 5810
THFHS 032 2.5 058" 4N 52 4500 325 4 1500
JHFHS 0420 5.2 072" 4N 43 6500 | 480 8 2385
JHFHS 0518 11 .099” 4N 44 7500 590 15 3930
JHFHS 0616 19 .099” 4N 44 13000 | 780 %5 5810
032 4.2 040" HC500LA 89 9500 300 60 2400
jTHHFFHHs 0420 10 .040” HC500LA 89 13500 | 340 130 3820
0518 23 .060” HC500LA 91 16000 | 575 290 6280
iR 13914003355 (FH5E4) BR % #): 13914002255 (BhoeA)

BEJERS: 13511601078 (F4E) A ML www.szjdph.com



